The Legend of King Arthur

Complete the sentences with the simple past form of the verbs in brackets.

Once upon a time there

(live) a king called Pendragon.

He (kill) a knight and (marry) his wife.

They (have) a baby son Arthur.

Pendragon (be) afraid for his son's life and (give) the baby
to Merlin,the wizard. Arthur _ (be) an orphan..

When Pendragon (die) the nobles (fight) each other.
Everybody (want) to be king.

They (decide) to have a meeting and they (choose) a new king.
Merlin (be) a wise man.

He (put) a sword into a stone and (write) a

message.

When Arthur (go) to a tournament to London, he (see) a sword
in a stone.

The nobles (try) to pull the sword out but they (can
not).

Arhur (pull) it out without any problem. Merlin (know)

that Arthur was Pendragon's son and Arthur

(become) the king of England.
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